Trimester 2 Practice Benchmark #1

Show all workl

1. Which side of the right triangle is the hypotenuse

2. Re-write the equation 4x — 2y = 10 in slope-intercept form. Lj = 2\‘— 5

3. Determine if the system has no solution, one solution, or many solutions. If it has one solution,
identify what the solution is. 4x +6y=-12

ex+ov=27 N0 Soluhon

4. What is the slope of this line?

y;x-‘=7- (—51’|0)

6. Find the slope (m) and y-intercept (b) of: 3x+y=-18. ¥n= -3

b=-I%
7. What is the slope of all horizontal lines? -S4\ All vertical lines? Uﬂde‘c\ned

8. Graph the equation x = -4

9. What is the equation of the line that has a slope of -5 and passes through the point (-3, 4)?

3': -5y -1l

10. Is (6, -5) a solution to Tx —y =477

Neés

11, Between which two integers does —v97 lie?

-9 2-10

12. Find the slope of the line passing through the two points: (-2, 9) and (-2, 1)

undefined

13. Find the x-intercept and y-intercept of 5x —3y =15

(30) (0,-9)
x-int. y-mt.
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